Sk M OVgkiti)_E D BEREZ LDl B R (rFn64E4 A 1 H BAE)

TR (1)

g | ORI RIS D ot AL Rl OB
HHELIR DI (N | (%) W4 QO] 0 | (%) | Beps

TF 14

. . . FHHGh 2

1#% FEORRS 17 101;%@@% )

7 17

TF 34

e XU/ 2

5 FEOD S S I e LA !
27tk WEETDIFEATH 50 | 29.8 |EFZGR 9 %
FEFEORKE FHEE 1l 91 | 542 B
7 LIS 3 ik

50

FAT 11

FAT-LR R 2

. . e FATF R 1

3itk FATOHEHS 24 1¢3$Eﬁﬁ 9

FALAE 1

3 24

3 5

1% 5 (R AT 1

R #ah 1
REFE 1 1%
4% R X EBR OIS 23 13.7 [Fmp 11| 23 13.7] E
ERS 1 ik

ST 1

Espitcet B S 2

i 23

AR A 15
FillR & 3 %
, MEAME, KE. FIZ Rk 1 ~
5k ﬁﬁ;ﬁ%ﬁ%g + 32 19.0 - 0 32 19.0 ?ﬁi
Rl A 1 %

i 32

DEHE B 1

R 13

Rk 2
DEHEREE R, RE. RE 1 s
6ifk ERE ZF HRIRE 22 13.1 22 13.1] £
DR i 3 %

ERE=S 1

({ERES 1

3 22

aEt 168 | 100.0




Bk FHR (2)

g | ERBSEREFICHET D aRt P ikt _L- 0 Bebes
AT DS (N | (%) s L 00| ) | mpe
1 | BRE B O 0 0.0 ——
o | MMIIERELELT %S| 00
’ BT B RS T e B OIS : T -
FEEERERAEE 2 %Ei
3| RO BB O 3 | 333 |:mAEA 1 PR N
&t 3 ' i
T LILEEERABE| 4 %
| L emaous 5 | 956 [EEAHA 1 8
&t 5
"
S | DA R E DT | g PREEERR — 1
&t 9 100.0
[ TS 35
s | RSB RICHET D et PE k] 100 Be s
HHELTR DI (N) | (%) T, OO 0 | ) | B
1% % [T DS 0 0.0 - 5
) HH 4 D I B T S S
2| SRS AR OTRES 0 | 00 = o
. = DR ER IS X =
S| T RO WS 0 | 0.0 =T ol b 1000
. RFIZ 8 DR R | D&
AR et OB 0 | 0.0 ETH E—
. FRoD C 1 B O SNk AR B - LS X BiEsS
S e 15 b D RS 1 | 100.0 T —
&t 1 100.0




